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=+ True, Fulse or Uncettain (You will be praded sotely by Jenr explanition.) 40%

1, Perfume smells good, so it las & poritive externalily on others.

2. People of more wealth would be of less rate of labor foree participation than thal

of the poor

k] Suppuse the government decided to have & tax cut on income. The (ax revenue s

reduced,

4. Under the nssumption of decreasing rate of marginal substilution between two

goods, X and ¥, the indifference curve of X and Y ig convex to the original,

5, Every point on the demand curve is the optimal chaice of the cons umet, which
means, for n given price, the corresponding demand on that curve guarnitees Lhe
highest utility that the consumest can obtain.

An increase in saving rate will rise the long run sconomie growth rats.

An inereass in expected inflatfon will shiff the aygregate demand curve to 1he i ght,

Holding other things constant, the Federal Resarve Bank announces an interest rale
cui by 0.25% will push up the Mew York Stock Market Index.

o

=+ Muliiple Choles (there is only one correct answer) 60%
1. Suppose serious pig disease is recognized in one economy. How would thal shack attack (he
piggy market in this economy. .
(1) Price increages and quantily decreases.  (2) Both price and quantity must decrease.
{3)Price might decreass, but quantity must decrsass.  (4) Wone of the above.

2, Lisa's utility function is represented by the lollpwing equation UK, Y)=4X+3Y, where X and Y
ropresent coffee and movie show, respectively, Lisn's income 18 1200, A sup of coffes cosis
¥190 and B movis show costs $300,
(1) Lisa feels that coffea and movie is complementary to each other, Her equtlibrium
expendlture composilion of X and ¥ would be 3 and 3, respectively.
(2) Coffee and movie show is substilulable goods for Lisa. Her best expenditure compasition
of thoge two goods rre X=6 and Ye=2, :
(3) Lisa would nol have any eup of coffee instead she would spend all of her maney in
having colfes. .
(4) There is no equilibrivm composition existed for Lisa unger this situation.

3. Soles tax would increase the price of the product,
{1) which will not necessarily decrense the firnm's revenue,
{Z)but the 1ax could be transferred 1o the consumer.
{3) while the tax burden shared by the consumer depends an the demand elasticity.
(4} All of the above, :

4. Which one of the following phenomenon does not necessarlly imply the failure of the market?
(1} Efficioncy wages. {2) The Increases in Jini coafficient.
{2} Externnlity. © {4} Mone of Lthe above,

5. Which one of the following reasons expluing 1he wage inequality belween skHl and unskilled
workers observed in the developed countries durlng the pest 1wo decades,
(1) Research and davalopment (R&D) sctivity.
{2} Skill-binsed technoiogy change.
(3} Relative changes in labor supply
{4} All of the above,
{8) Only sthtements (19 nid £2) are correct,

6. Which one of the follewing gaods is an inferior good?
(1) Fan  (2) Furniwre () TV {(4) Watch  (5) Mone of the ghove,

7. If'the product market is monopaly, then
{1} the equilibrium price and quantily would be too low.
(2) The economy is not a Perato optimal,
{3) The equilibrium price and quantity is delermined by its correspohding demand eurve.
{4) Mona of the above.

8. Which ore of the following statsments is correct?
(D Both Lorenz:. curve and Gini cocffisient mensure (he Income ineguality of one SCONCINY,
{2} In most OBCD counlries, the Gini eoeficlent fenl 1o be bigger these years,
(2) In general, the variance of the income distributian enlarged in the past twenty years.
{47 All of the ghove. {5) Culy slatements (1) and (2] are accurate.

N

% % 2 2 25 xs]



BB HR SR A B — B S BT A\ B

KOIR B2w

HEL AARERAEMRA R RE: 1%
Fr

9. in which of the follawlng markel, the moral linzard probiem could be serious?
{1} Insurance market. (2} Car rental markes. (1} Capital markel.
{4) All of the above, (5} Only markets {1y ard {2).

10. During 1yphoan seagon, the price of ogriculture product poes up hecause
{1} the supply is expecled to decrense.  {2) the demand Js expected to increase.
{3} the sggregate supply decreases, {4) the nggregate demand is increesed.
{5} vll of the above.

I'1. Suppose the rapid increnses in the rate ol wnemployment occurred in Tojwan is mainly due la
lhe upgrading technalogy as well os changes in the industries. Then which one of the
fallowing 1ypes of unemployment eouldn't be attribuled a5 one of the major causes for his
echnomy?

(173 Frictional {2) Structural {3) Bectarai Shifl (4} Demand-deficient
(5Y Nune of the nbave,

12. The government budget deficis leads o
{1} lower natienal saving {2) lower privote investment (3) a trade deficit ar o larger
fareign debt. {4 all of the obove (5] Only statements (1) and (2) are acourate.

13. According to Ihe nesciassical model,
(1) firms invest if the rental price is grenter (han Ihe cost of tapital.
(2) investment depends on the ratio of the market value of installed capital 1ex ils replacemen
" cosl.
(3) Tobin's q reftects the current and expected future profitability of the product of the Arm,
(4) All of the ahove slatements nhout the neocassicn) model nre cormed,
{3) Only slatement (1) and (2) are correct,

14, Accarding lo the clnssical model,
(1) the money demand does net atfect real variobles,
{2} 1he equilibrium In the money market determines the price levet and all ciher nominal
varinbles,
(3} ihe heoreticnl separalion of rea) and nominul variables Is called the clossical separation.
{4} All uf Ihe obove staiements are correct,
(3Y Only statements (1) and {2) are cormest.

5. The natural.rate of unemploymeni: _
(1) depends on the rte of jab separation and {he rale of joh finding.
{2) Various yovernment policles, such o unerrpleyinent insurance, alier the smount of natural
rale of unerhployment as well as the unemployment dusmtion.
{3} 15 the sleandy sale eate of unemployment.  (4) All of the 2bove stntements are carrect.
(3)Onty slalemenis (1) and (2) are correct.
I6. in Solow's growth model,
{1)an ecanomy's eate. of saving determines the size af jig capitat atock,
(2} an econamy'y rate of naving delerminea lhe size of ity level of praduct.
(M All vorinbles determining the yrowth rate of one ECOROMY AMe CXTEENOUS.
{4) All of tiw above siatemants are conect, (53 Only statements (1) and (2} are correct.

12, Which of the foltowing variables is o stock varinbie?
(1) Judy's income, (2) Eddie's expanditure. (3} Jack's wealih.
(4) All of the above voriohles. (5) Oniy varinbles of (1) and (2).

I8. The labor foree paricipation rale is defined as
(1) 1ha parceniage of workforce to Lhe whale population in the economy.
(3) 1he percantage of employed and unemployed warkers (o people af age 15 and nbove.
(3) The percentage of worktoree to the sumnntion of employed and unemployad.
{41 All af the phove. (5) Only siatements {13 and £2) are correct.

[9. Which of 1he lollowing production Functions is of hom opensous of degree one?
Ao Ywmiah X, -a¥] X iiax, +fiv,) B, Yw= AXT XY 4BX, 4ok, :

(17 Only the firal sase is. {2} Only the second case i3,
(3 13oll twa eoses nre, (4) MNong of 1he above,
2}, in cligopaly market,
{t} Price is kind of slicky. {2) ihe products must be different In some sense.

(Nthere must exist kinked demand curve, (4) All of the above statements are comest,

(%) Onty stalements { 1) and {2) are trye.
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